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Solve(D2*t)3y=o . ,.. . 1:.r:

Evaluate 1 *2 I n, - rz dx
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Prove that E v = Y'E ': '" 
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ChansLfteofder''oj'inte$ra'titinimh,',p.1ra1iiag. t = 1 [. vx dv d*
:' *lz, dx

Evaluate i ^ and hence deduce thato l* a.sinz x

it, .z ' .f' 't' sln - x ttr.l3
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::,
, Find+he rfiess; gf: a plate in the form of a cardiode , = o(1- cos o ) (6)

j ' .. 1\

ir.!--tit{e.$enslty,tit any point of the plate varies as square of its distance
frorn the plate.
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Duration - 3 Hours
(1) N.B.:- Question no I is compulsory.
(2) Attempt any THREE questions out of remaining FIVE questious.

Q.l) a)

b)

Solve dY - Y+t
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c)

Q.4a)

- d', dv
Solve (3x + t)' ; - 3(3x * rr;-12 Y = e *

Show that the length of the curye x = a ee sin 0

d'v dv ?r
Solve 6 +l3y=8.3'rin 4x+2x

dx' &

, ,(8)-

.'..
! = a eg cos d from .(6)

(6)
b)

c) Using fourth order Runge-Kuttarrnethod, so e numerically, the (8)

differential equation *= 
.' * v' with the given condition * ='r,

ir. ,r.l I : , . ., ,y: 1.5 in the interval (1,:1.2):wifl:[:9.1

Use method of variationofp#ameters to solve : : ' (6)
1

d'v dv -? -r---;+ 2: +5y = 4, * tan 2x +5e
dx' dx

Using Tayloris,seri.es mefhod; bb inihe,sstutisn of (6)

dv

:= v-xv, !(0)=2. Find thevalueof yforx:0.lcorrect to
ax

fou-r @iaai,qtaces ',,.'," ,'
.',' , It drl,, ;. .l'1 -'- (8)

Evaluate j , . , by using (i) Trapezoidal Rule, (ii) Simpson's (r/r)'
,',,' .. "' -: 

' t 
.,. . ".'

,Rulo.'and.(iii}'simpsog's 1rla,)' Ru19, Compare the result with exact

\,

Q.s a)

b)

c)

Q,6 a) .In a circirit resistanerg'& Eelf,inductance L, the current i is given ,(6)
,

", ' 6y b,y. t ?*x ;i = a ";' pr where E and p are constants. Find the

, ' " cut{enf iat time:'tl i

b)

9) -,

.

sotutiorr.

;nd'th!,area@een the circles r =sin d and r = zs', 0

Find the voJumg of the paraboloid *' + y' = 4 z cut off by the

Dmne z=+
:. . *****:k*********r(**:F
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